Revision Progress Test 2 – Working Capital Management

Answer 1

Summary of calculations

	Increase in revenue
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	Increase in cost of goods sold
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	Increase in profit before tax
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	Increase in non-current assets
	
[image: image4.wmf]%

6

.

14

%

100

775

,

3

775

,

3

325

,

4

=

´

-



	Increase in current assets
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	Last year
	Forecast

	Current ratio
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	Quick ratio
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	Sales/net current assets
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	Receivables collection period
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	Inventory days
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	Payables payment period
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	Cash operating cycle
	99.1 – 93.9 + 44.6 = 49.8 days
	91.3 – 99.2 + 60.3 = 52.4 days

	Debt/equity
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	Revenue/non-current assets
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Report

To: Finance Director of MAT

From: Financial Manager

Date: xx-xx-xxxx

Re: Overtrading and financial strategies

Introduction

This report will analyse the last year’s results and forecast information for MAT and advise whether the entity is overtrading. It will also recommend financial strategies that could be used to address the situation.

What is overtrading?

Overtrading happens when a business tries to do too much to quickly with too little long-term capital so that it is trying to support too large a volume of trade with the capital resources at its disposal.

Symptoms

(a)
There is a rapid increase in turnover.
(b)
There is a rapid increase in the volume of current assets and possibly also non-current assts. Inventory turnover and accounts receivables turnover might slow down.

(c)
There is only a small increase in proprietors’ capital (perhaps through retained earnings). Most of the increase in assets is financed by credit, especially trade accounts payable and bank overdraft.

(d)
The proportion of total assets financed by proprietors’ capital falls and the proportion financed by credit rises.

Is MAT overtrading?

The calculations presented in the above indicate signs of overtrading

(a)
Turnover is expected to increase by 27.8% which is rapid growth as is to be expected in a rapidly growing niche market. However, cost of sales is up by 31.4%. Sales to net current assets is expected to increase from 5.5 time to 10 times.

(b)
Current assets are forecast to grow by 27.5% compared to growth in non-current assets of only 14.6%. Accounts receivable collection period is forecast to increase by 35% [(60.3 – 44.6) / 44.6]. However, inventory days are expected to fall slightly. The overall cash operating cycle would be expected to increase if the entity was overtrading but the increase is only 5% [(52.4 – 49.8) / 49.8].
(c)
Equity is expected to increase by only 18% [(5,950 – 5,050) / 5,050] but the accounts payable period is increasing and an overdraft of £450,000 is forecast.
(d)
The gearing ratio is actually expected to fall rather than rise but it does look as though the purchase of non-current assets is being financed with an overdraft rather than long-term debt.

In conclusion, MAT is demonstrating some sings of overtrading but the evidence is not conclusive.
Recommended financial strategies
Overtrading can result in business failure due to liquidity problems. The deterioration in current and quick ratios does not indicate impending financial distress but action should be take to improve the situation.

(a)
Better control could be applied to accounts receivable. The danger is that sales could be damaged by more stringent credit control.

(b)
MAT could take even more credit from suppliers but this risks retaliatory action as a long credit period is already taken.

(c)
New capital could be injected into the business by the owners. The size of the business probably means that it is too small to consider a flotation so this does make it difficult to raise equity finance.

(d)
New long-term debt finance could be raised, especially as re-financing will be required in two years’ time.

(e)
MAT could abandon plans to purchase more non-current assts until the business has had time to consolidate its position and build up its capital base with retained profits.

Addition information

(a)
More specific information on the inventory would be useful, especially as the entity is a manufacturer so needs to hold raw material and WIP inventory.

(b)
An annual forecast does not provide sufficient information on monthly or seasonal peaks and troughs. A more detailed cash flow analysis would be useful.

(c)
More information on accounts receivable balances and policies would help to improve credit control.

(d)
Detailed information on the planned purchase of non-current assts would enable an informed decision to be made on whether to purchase.
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Answer 2
(a)

Income statement for the year ended 31 December

	
	2011
	2012
	

	
	£m
	£m
	

	Revenue
	51.8
	59.6
	Up 15%

	Profit before interest and tax
	15.5
	17.9
	30% of revenue

	Interest on bank loan
	(0.5)
	(0.5)
	6% × £8m

	Interest on overdraft
	(0.1)
	(0.2)
	6% × opening balance

	Profit before tax
	14.9
	17.2
	

	Taxation (W1)
	(3.4)
	(4.3)
	

	Profit after tax
	11.5
	12.9
	

	Dividend
	(10.5)
	(11.0)
	Up 5%

	Profit for the year retained
	1.0
	1.9
	

	Retained earnings b/f
	4.0
	5.0
	

	Retained earnings c/f
	5.0
	6.9
	


W1 Taxation

	
	2011
	2012

	
	£m
	£m

	Profit before tax
	14.9
	17.2

	Add back depreciation
	6.3
	7.2

	Purchase of non-current assets
	(10.0)
	(10.0)

	
	11.2
	14.4

	Tax @ 30%
	(3.4)
	(4.3)


Statement of financial position as at 31 December
	
	2011
	2012
	

	
	£m
	£m
	

	Property, plant and equipment (W2)
	18.7
	21.5
	

	Working capital
	10.4
	11.9
	20% × revenue

	
	29.1
	33.4
	

	
	
	
	

	Share capital (50p ordinary)
	10.0
	10.0
	

	Retained earnings
	5.0
	6.9
	

	Long term borrowings (bank loan)
	8.0
	8.0
	

	Short term borrowings (overdraft)
	2.7
	4.2
	

	Current tax payable
	3.4
	4.3
	

	
	29.1
	33.4
	


W2 Property, plant and equipment

	
	2011
	2012
	

	
	£m
	£m
	

	Balance b/f
	15.0
	18.7
	

	Acquisitions
	10.0
	10.0
	

	
	25.0
	28.7
	

	Depreciation (25%)
	(6.3)
	(7.2)
	

	Balance c/f
	18.7
	21.5
	


Cash flow for the year ended 31 December

	
	2011
	2012
	

	
	£m
	£m
	

	Profit before interest and tax
	15.5
	17.9
	

	Add back: depreciation
	6.3
	7.2
	

	Funds generated from operations
	21.8
	25.1
	

	Less: Increase in working capital
	(1.4)
	(1.5)
	

	Cash generated from operations
	20.4
	23.6
	

	Tax paid
	(1.0)
	(3.4)
	Previous year’s tax is paid

	Interest paid
	(0.6)
	(0.7)
	

	Dividend paid
	(10.5)
	(11.0)
	

	Purchase of non-current assets
	(10.0)
	(10.0)
	

	Net cash flow
	(1.7)
	(1.5)
	

	Overdraft b/f
	(1.0)
	(2.7)
	

	Overdraft c/f
	(2.7)
	(4.2)
	


Overdraft limit

The overdraft limit is £1.5 million. This is exceeded by the end of 2011 and increases during 2012. The maximum shortfall (end of 2012) is £4.2m – £.5m = £2.7m.

Gearing

The book value of gearing (long and short term borrowings divided by equity) is 71% in 2011 (10.7/15) and 72% in 2012 (12.2/16.9). Both these figures exceed the figure that the bank considers the maximum possible.

(b)

Financing, investment and dividend strategies

The results of the financial plans show that the company has reached the limit of its borrowing capacity. It therefore has a choice between cutting its investment plans or finding alternative sources of finance, one of which is restricting shareholders’ dividends. Thus the investment, financing and dividend decisions are all inter-related.

Need for investment
GSD is predicted to show increasing profits and its return on total assets (profit before tax divided by total assets) is forecast at a healthy 51% in both years. Its priority is therefore to continue with its investment plans. Any decision to delay the investment could allow competitors to gain an advantage and may reduce opportunities for future funding.

Bank loan
To continue with investment plans, funds must be raised. Although the gearing is in excess of what the bank considered desirable, GSD would approach the bank on the grounds that most of the loan will be repaid in 2013 and the company expects positive cash flows as shown below.

	
	2013
	

	
	£m
	

	Profit before interest and tax
	20.5
	17.9 × 1.15

	Add back: depreciation
	7.1
	(21.5 + 7) × 25%

	Less: Increase in working capital
	(1.8)
	(59.6 × 1.15 × 20%) – 11.9

	Cash generated from operations
	25.8
	

	Tax paid
	(4.3)
	2012 tax charge

	Interest paid
	(0.7)
	(8.0 + 4.2) × 6%

	Dividend paid
	(11.6)
	(11.0 × 1.05)

	Purchase of non-current assets
	(7.0)
	

	Net cash flow
	2.2
	


Need for equity funds
If further borrowing is impossible without impairing relationships with the bank, the company must seek equity funds. The type of equity funds sought will depend partly on whether the funds shortfall is seen as temporary or permanent.

Dividend restrictions

If the company’s investment plans are limited to £7 million for each of 2013 to 2015, then the funding requirement is likely to fall rapidly assuming profitability is maintained. In this case, it would be best to cover the shortfall in 2011 and 2012 by reducing the dividends from the budgeted 5% annual growth. This could easily provide sufficient funds to cover the shortfall for the two years. Such a restriction would, however, need to be agreed by directors with the family shareholders. Some family shareholders will be dependent on their dividend income, but might be persuaded that it is in their best interest to sell some of their shares to other members and reinvest elsewhere.
Share issue

If the company predicts that additional expansion plans and investment will arise in 2013 and beyond then, although continued reduction in dividends might be able to provide the necessary finance, it might be better to attempt to seek new cash from shareholders by way of a rights issue. This would enable those who wish to invest to subscribe for new shares, whereas other family members may wish to sell their rights effectively reduce their shareholdings.
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Answer 3

(a)(i)

Expected revenue for Country E

Expected sales in E$ = E$750,000 x 0.6 + E$950,000 x 0.4 = E$830,000

Expected sales in € = E$830,000/1.473 = €563,476

Accounts receivable = 20% x €563,476 = €112,695

Revised financial outcomes

	
	
	Country D
	
	Country E
	Total

	
	
	€000
	
	€000
	000

	Credit sales
	90% of revenue
	2,327
	
	563
	2,890

	Receivables
	
	350
	
	113
	463

	Inventory
	
	
	
	
	

	Raw material
	45% x 425
	191
	
	245
	436

	WIP
	22% x 425
	94
	
	120
	214

	Finished goods
	33% x 425
	140
	
	208
	348

	Total
	
	425
	
	573
	998

	Cost of sales
	
	1,551
	1,551/2,585 x 563
	338
	1,889

	Purchases
	
	1,034
	1,034/2,585 x 563
	225
	1,259

	Accounts payable
	
	205
	205/1,034 x 225
	45
	250


Revised operating cycle

	
	
	Days

	Receivables
	463/2,890 x 365
	58.5

	Payables
	250/1,259 x 365
	(72.5)

	Inventory
	
	

	Raw material
	436/1,259 x 365
	126.4

	WIP
	214/1,889 x 365
	41.3

	Finished goods
	348/1,889 x 365
	67.2

	Operating cycle
	
	220.9


(a)(ii)

Causes of the increase

Original operating cycle

	
	
	Days

	Receivables
	
	54.9

	Payables
	
	(72.4)

	Inventory
	
	

	Raw material
	191/1,034 x 365
	67.4

	WIP
	94/1,551 x 365
	22.1

	Finished goods
	140/1,551 x 365
	33.0

	Operating cycle
	
	105.0


Accounts receivable
All of the sales to Country E are on credit with customers expected to take much longer to pay (113/563 x 365 = 73 days) than in Country D. This may be due to the difficulties with credit management in a foreign country.

Inventory

All of the types of inventory are held for much longer in Country E than in Country D. This is presumably in order to provide safety inventory in a country where sales are likely to be affected by economic and political factors. Raw material inventory is in excess of purchases so BG must have exported raw materials ready for production to start.

(b)

The treasury department is usually run as a cost centre if its main focus is to keep costs within budgeted spending targets. In a cost centre, managers have an incentive only to keep the costs of the department within budgeted spending targets. The cost centre approach implies that the treasury is there to perform a service of a certain standard to other departments in the enterprise. The treasury is treated much like any other service department.

It may be run as a profit centre if there is high level of foreign exchange transactions, or the business wishes to make speculative profits. Treating the treasury department as a profit centre recognizes the fact that treasury activities such as speculation may earn revenues for the company, and may as a result make treasury staff more motivated. It also means that treasury departments have to operate with a greater degree of commercial awareness, for example the management of working capital, by reducing interest and bank spreads. The profit can also be made by charging individual business units a market rate for services with a lover cost of provision.
In BG, the treasury department is likely to be run as a profit centre as it is a relatively large entity so finance savings will be significant. There are currently with foreign exchange dealings, and, although this is due to change, there will be opportunity to make a profit by netting cash flows as there will be payments and receipts in E$. BG should centralize its treasury department which makes it easier to impose central finance policies.

In conclusion, a profit centre is probably appropriate for the treasury department of BG.

(c)

Financing net current operating assets

Short-term finance is usually cheaper than medium-term finance (under a normal yield curve).

The diagram below illustrates three alternative types of policy A, B and C. The dotted lines A, B and C are the cut-off levels between short-term and long-term financing for each of the policies A, B and C respectively: assets above the relevant dotted line are financed by short-term funding while assets below the dotted line are financed by medium or long-term funding.

Conservative approach

Policy A can be characterized as a conservative approach to financing working capital. All non-current assets and permanent current assets, as well as part of the fluctuating current assets, are financed by medium or long-term funding. There is only a need to call upon short-term financing at times when fluctuations in current assets push total assets above the level of dotted line A. At times when fluctuating current assets are low and total assets fall below line A, there will be surplus cash which the company will be able to invest in marketable securities.

Aggressive approach

Policy B is a more aggressive approach to financing working capital. Not only are fluctuating current assets all financed out of short-term sources, but so are some of the permanent current assets. This policy represents an increased risk of liquidity and cash flow problems, although potential returns will be increased if short-term financing can be obtained more cheaply than medium or long-term finance. It enables greater flexibility in financing.

Moderate approach
Policy C is a moderate approach which attempts to achieve a balance between risk and return. This seems to be the policy adopted by BG. It finances major changes in working capital with medium-term loans but also uses an overdraft and delayed payments for short-term funding.
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